Y=t $=x" 0 FAZ IX L20mt?
(0:0), (11) TH3

4=2"LoX € P (z,2") (0sa£1)eT3,
Pod d=X b1z FOLE ik ®® H v .

bH=ted3r Hiz (Jz"/‘> TH

STUPH I X-%4=0t Plx,x") o FE3k z’bé»‘é
L - " -
bh e l | X-%

> z“ .
Y0 7
PH= 0P OH® &y
(x-x")* ,
T)— (2™ -1 wes

t*= L (a0tv0u™ - e 2™ ) -

"

-%— (>4 2™ v ")

"

L (x+2")?
4+ X RE&Y t=—f\§-(i+x“> ™33,

T dt =7'§— Cl+m g™ D) d A ?Fang

¥y ‘ \ ")
Vs fo TCPH AT = rS —(-x;-l ' '};— (o™ dix

L]

' .
TC 2 ned an At
= X" 2% X A ol oC
x go( : + XY (lema™™) |
] | oo -
= S [ (-2t™ e ™ nx " =20 " maT) dx
22 Jo '
|
T 2 n-n 3R~
e (2 ey 2 (mea)a ( ax
T3 go {1 (2n-1) (m-2) mI d
. _)__':m—y*n—z,rnr\)
22 3. an+ h+2 In
n |
T f 3" - (! im-l) ( ‘"*2)+ (]
S (2 - |
Y ( 3 Y Znn n+2)
L .2 _
Y (3 * 2n+| n+2 ©
- |, (antD)(n+2) +3(N+2) = b (2nH)
B 3(2nt1)(n+2) s
X2 (n=1) - I(““‘)
37 (2n+1)(nr2) 9(3\«*!)(»_\%) .

@ &) Swm Vin = %l

1l
Y
4%
A



